	Material
	Description
	Qty.

	GALVANIZED
	LOCK WASHER Ø8
	8

	STAINLESS STEEL. 316
	FLAT WASHER MEDIANA Ø1/2"
	2

	STAINLESS STEEL 304
	FLAT WASHER MEDIANA Ø3/8"
	2

	STAINLESS STEEL 304
	FLAT WASHER MEDIANA Ø3/8"
	12

	F-436 ZINC.
	FLAT WASHER Ø1/2"
	4

	F-436 ZINC.
	FLAT WASHER Ø1/2"
	4

	F-436 ZINC.
	FLAT WASHER Ø1/2"
	4

	F-436 GALVANIZED
	FLAT WASHER Ø3/8"
	4

	F-436 ZINC.
	FLAT WASHER Ø5/8"
	4

	ASTM A193 GR B8ML
	HEX. BOLT  1/2" - 13 UNC x 1 3/4" 
	2

	ASTM A193 GR B8
	HEX. BOLT  3/8" - 16 UNC x 1 1/4"
	12

	ASTM A193 GR B8M
	HEX. BOLT  3/8" - 16 UNC x 2 3/4" 
	2

	GR. 2 ZINC.
	HEX. BOLT 1/2" - 13 UNC x 2" 
	4

	GR. 2 ZINC.
	HEX. BOLT 1/2" - 13 UNC x 2" 
	4

	GR. 2 GALVANIZED
	HEX. BOLT 1/2" - 13 UNC x 4 1/2" 
	4

	GR. 2 GALVANIZED
	HEX. BOLT 5/8" - 11 UNC x 5" 
	4

	GR. 5 GALVANIZED
	HEX. BOLT Ø3/8" - 16 UNC x 1 1/2" 
	4

	ASTM A194 GR 8M
	HEX. NUT  1/2" - 13 UNC
	4

	ASTM A194 GR 8
	HEX. NUT  3/8" - 16 UNC
	4

	ASTM A194 GR 8
	HEX. NUT  3/8" - 16 UNC
	12

	GR. 5 GALVANIZED
	HEX. NUT 3/8" -16 UNC
	4

	GR. 2 ZINC.
	HEX. NUT 5/8" - 11 UNC
	4

	GR. 2 ZINC.
	HEX. NUT Ø1/2" - 13 UNC
	4

	GR. 2 ZINC.
	HEX. NUT Ø1/2" - 13 UNC
	4

	GR. 2 ZINC.
	HEX. NUT Ø1/2" - 13 UNC
	4

	CL.8.8 GALVANIZED
	BOLT HEX. M8 (5/16)  X 20 RC
	8



